-p- 0 : cc	)	1151110) 110jeeu 1110	
	Ratification Date:	Resolution #:	

<u>Owner or Taxpayer</u>	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
*71 ANNAPOLIS ST W	LIS ST W MCMANIGAL AND VARNEYS Mill and Overlay - C		Commercia	57.50	78.00	\$4,485.00	07-28-22-44-0115
*Ward: 2 *Pending as of: 12/31/2018	REARRANGEMENT OF BLOCK 17 OF JACKSONS AND BIDWELL'S ADDITION TO WEST ST. PAUL S 78 FT OF FOL E 14 5/10 FT OF LOT 12 AND				_	\$4,485.00	
	ALL OF LOTS 13 AND LOT 14 BLK 17		Total Asses			\$4,485.00	
			This Payme			\$0.00	
			Current Yea	_		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$4,485.00	
Andre Moody	TUTTLES REARRANGEMENT ETC.	Mill and Overlay - O	Commercia	57.50	124.00	\$7,130.00	07-28-22-44-0137
Deana Smith	LOTS 9 AND LOT 10 BLK 10	Mill and Overlay - F		57.50	0.00	\$0.00	07-20-22-44-0157
800 Stryker Ave		-			=	\$7,130.00	
St Paul MN 55107-3357		*** Owner and Tax	payer ***			Ψ7,130.00	
*60 BELVIDERE ST W		,					
*Ward: 2			Total Asses	sment:		\$7,130.00	
*Pending as of: 12/31/2018			This Payment:			\$0.00	
_		Current Year Principal: Current Year Interest:		ar Principal:		\$0.00	
					\$0.00		
			Payoff Amo	ount:		\$7,130.00	
Nicholas A Johnson	JACKSON AND BIDWELL'S	Mill and Overlay - O	Commercia	57.50	49.00	\$2,817.50	07 20 22 44 0004
Anna M Johnson	ADDITION TO WEST ST. PAUL,	Mill and Overlay - F		57.50	0.00	\$0.00	07-28-22-44-0004
13637 Krestwood Dr	DAKOTA CO., TERRITORY OF	Time und Sveridy	Concontial	37.30	=		
Burnsville MN 55337-4056	MINNESOTA LOT 6 BLK B	*** Owner and Taxı	naver ***			\$2,817.50	
*59 CURTICE ST W		Owner and rang	puyor				
			Total Asses	sment:		\$2,817.50	
*Ward: 2			This Payme			\$0.00	
*Pending as of: 12/31/2018			-				
			Current Yea	ar Principal:		\$0.00 \$0.00	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1805 Assmt: 185503 Manager: LM **Ratification Date:** Resolution #:

<u>Owner or Taxpayer</u>	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Vasquez Llc	WEST ST PAUL BLKS 100 THRU 171	Mill and Overlay - Commercia	57.50	100.00	\$5,750.00	07-28-22-41-0035
1780 52nd St E 310	ETC SUBJ TO DODD RD AND EX PART NWLY THEREOF LOTS 9 AND LOT 10	Mill and Overlay - Residential	57.50	0.00	\$0.00	
Inver Grove Heights MN 55077-6606	BLK 133				\$5,750.00	
*674 DODD RD		*** Owner and Taxpayer ***				
*Ward: 2		T-4-1 A			Ø5 750 00	
*Pending as of: 12/31/2018		Total Ass This Payı			\$5,750.00 \$0.00	
		-	Tear Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$5,75 <b>0.00</b>	
Nina Chorewycz	SMITH AND MARTINS	Mill and Overlay - Commercia	57.50	119.00	\$6,842.50	07-28-22-41-0071
Borys R Galenko	REARRANGEMENT OF WEST SAINT PAUL PROPER LOTS 7 AND LOT 8	Mill and Overlay - Residential	57.50	0.00	\$0.00	
68 Morton St W	BLK 136			· <del></del>	\$6,842.50	
St Paul MN 55107-3619		*** Owner and Taxpayer ***				
*68 MORTON ST W		<del></del>			0 < 0.42 = 0	
*Ward: 2		Total Ass			\$6,842.50	
*Pending as of: 12/31/2018		This Pays	ment: Tear Principal:		\$0.00 \$0.00	
			Tear Interest:		\$0.00	
		Payoff A			\$6,842.50	
		- <b></b> , 0			\$ 3,0 1 <b>21</b> 00	
Katherine M Wittman	JACKSON AND BIDWELL'S	Mill and Overlay - Commercia	57.50	73.00	\$4,197.50	07-28-22-41-0113
Dalton Lindau	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF	Mill and Overlay - Residential	57.50	0.00	\$0.00	
67 Sidney St W	MINNESOTA EX N 25 FT E 1/3 OF LOTS				\$4,197.50	
St Paul MN 55107-3360	2 AND LOT 3 BLK C	*** Owner and Taxpayer ***				
					<b></b>	
*67 SIDNEY ST W			accus out.		\$4,197.50	
*Ward: 2		Total Ass			,	
		This Payı	ment:		\$0.00	
*Ward: 2		This Payr Current Y			,	

ne improvement rissessmen	t Holl by Hualess (I ee to 1	isini, Troject.
	Ratification Date:	Resolution #:

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
654 Stryker Llc	WEST ST PAUL BLKS 100 THRU 171	Mill and Overlay - Commercia		49.00	\$2,817.50	07-28-22-41-0034
C/O Qpm Llc	ETC LOT 1 BLK 132	Mill and Overlay - Residential	57.50	0.00	\$0.00	
Po Box 862					\$2,817.50	
Lake Elmo MN 55042-0862		*** Owner and Taxpayer ***				
*654 STRYKER AVE *Ward: 2		Total A	ssessment:		\$2,817.50	
*Pending as of: 12/31/2018		This Pa			\$2,817.30	
1 chang as of . 12/3 // 2010			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$2,817.50	
Michael Isaacson	WEST ST PAUL BLKS 100 THRU 171	Mill and Overlay - Commercia	57.50	52.00	\$2,990.00	07-28-22-41-0033
1427 Burr St	ETC LOT 2 BLK 132			_	\$2,990.00	
St Paul MN 55130-3407		*** Owner and Taxpayer ***				
*660 STRYKER AVE		T . 1 4			# <b>2</b> 000 00	
*Ward: 2 *Pending as of: 12/31/2018		This Pa	ssessment:		\$2,990.00 \$0.00	
reliding as 01. 12/31/2018			Year Principal:		\$0.00 \$0.00	
			Year Interest:		\$0.00	
			Amount:		\$2,990.00	
		T uy on	· · · · · · · · · · · · · · · · · · ·		<b>42,</b> 55 <b>6.00</b>	
Ivan O Rodriguez	WEST ST PAUL BLKS 100 THRU 171	Mill and Overlay - Commercia	a 57.50	50.00	\$2,875.00	07-28-22-41-0036
661 Stryker Ave	ETC EX ST LOT 8 BLK 133			_	\$2,875.00	
St Paul MN 55107-2832 * <b>661 STRYKER AVE</b>		*** Owner and Taxpayer ***				
*Ward: 2		Total A	ssessment:		\$2,875.00	
*Pending as of: 12/31/2018		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$2,875.00	

9:07:06 2/6/2019	Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1805 Assmt: 185503 Manager: LM  Ratification Date: Resolution #:					Page	
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Midwest Property Holdings Llc	WEST ST PAUL BLKS 100 THRU 171 ETC LOTS 3 4 AND LOT 5 BLK 132	Mill and Overlay - Commercia Mill and Overlay - Residential	57.50 57.50	149.00 0.00	\$8,567.50 \$0.00	07-28-22-41-0032	
500 Central Park Blvd New Brighton MN 55112-2109		Will alla Overlay - Residential	37.30	0.00			
*670 STRYKER AVE *Ward: 2		*** Owner and Taxpayer ***			\$8,567.50		
*Pending as of: 12/31/2018		Total Ass	essment:		\$8,567.50		
		This Payr	nent:		\$0.00		
		Current Y	ear Principal:		\$0.00		
		Current Y	ear Interest:		\$0.00		
		Payoff A	mount:		\$8,567.50		
Nicole E Schilling	WEST ST PAUL BLKS 100 THRU 171	Mill and Overlay - Commercia	57.50	50.00	\$2,875.00	07-28-22-41-0037	
671 Stryker Ave	ETC LOT 7 BLK 133			_	\$2,875.00	0. 20 22 11 000.	
St Paul MN 55107-2832 *671 STRYKER AVE		*** Owner and Taxpayer ***			\$ <b>2</b> ,070.00		
*Ward: 2		Total Ass	essment:		\$2,875.00		
*Pending as of: 12/31/2018		This Payr	nent:		\$0.00		
		Current Y	ear Principal:		\$0.00		
		Current Y	ear Interest:		\$0.00		
		Payoff A	mount:		\$2,875.00		
Brianna L Haas	WEST ST PAUL BLKS 100 THRU 171	Mill and Overlay - Commercia	57.50	48.00	\$2,760.00	07-28-22-41-0038	
	ETC EV W 5 ET LOT 6 DLV 122	10 1 D 11 11	57.50	0.00	#0.00	U. MU MM II UUUU	

Brianna L Haas	WEST ST PAUL BLKS 100 THRU 171	Mill and Overlay - Commercia	57.50	48.00	\$2,760.00	07-28
Paul J Haas	ETC EX W 5 FT LOT 6 BLK 133	Mill and Overlay - Residential	57.50	0.00	\$0.00	
675 Stryker Ave					\$2,760.00	
St Paul MN 55107-2832		*** Owner and Taxpayer ***				
*675 STRYKER AVE						
*Ward: 2		Total Assess	sment:		\$2,760.00	
*Pending as of: 12/31/2018		This Payme	nt:		\$0.00	
		Current Yea	r Principal:		\$0.00	

Current Year Interest:

**Payoff Amount:** 

\$0.00 **\$2,760.00** 

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1805 Assmt: 185503 Manager: LM ı #:

	_	
Ratification	Date:	Resolution

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<u>Unit Rate</u>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Pearl Theodora Bejblik	SMITH AND MARTINS	Mill and Overlay - Co	mmercia	57.50	40.00	\$2,300.00	07-28-22-41-0072
691 Stryker Ave	REARRANGEMENT OF WEST SAINT PAUL PROPER LOT 9 BLK 136				_	\$2,300.00	
St Paul MN 55107-2837 * <b>691 STRYKER AVE</b>		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	sment:		\$2,050.00	
*Pending as of: 12/31/2018			This Payme	nt:		\$0.00	
			Current Yea			\$0.00	
			Current Yea	ır Interest:		\$0.00	
			Payoff Amo	ount:		\$2,050.00	
							***ESCROW***
Cohl Kerkau	HORNSBY'S SUBDIVISION OF BLK.	Mill and Overlay - Co	ommercia	57.50	46.00	\$2,645.00	07-28-22-41-0079
Payton Kerkau	137 OF WEST ST. PAUL PROPER A STRIP 14 5/10 FT WIDE ADJ ON THE S				=	\$2,645.00	0. 20 22 11 00.7
692 Stryker Ave	AND S 31 5/10 FT OF LOTS 5 6 AND	*** Owner and Taxpa	yer ***			ΨΞ,0.0.00	
St Paul MN 55107-2838	LOT 7 BLK 137						
*692 STRYKER AVE			Total Assess	sment:		\$2,645.00	
*Ward: 2			This Payme	nt:		\$0.00	
*Pending as of: 12/31/2018			Current Yea	•		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$2,645.00	
Bcm Management Llc	HORNSBY'S SUBDIVISION OF BLK.	Mill and Overlay - Co	mmercia	57.50	44.00	\$2,530.00	07 20 22 41 0000
750 S Plaza Dr Ste 221	137 OF WEST ST. PAUL PROPER A	Williand Overlay - Co	minercia	37.30	=		07-28-22-41-0080
St Paul MN 55120-1505	STRIP 1 5/10 FT WIDE ADJ ON THE N AND N 38 5/10 FT OF LOTS 8 9 AND LOT 10 BLK 137	*** Owner and Taxpa	yer ***			\$2,530.00	
*694 STRYKER AVE *Ward: 2	LOT 10 BLN 157		Total Assess	sment:		\$2,530.00	
*Pending as of: 12/31/2018			This Paymer			\$0.00	
			Current Yea			\$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo			\$2,530.00	

## Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1805 Assmt: 185503 Manager: LM

Current Year Interest:

**Payoff Amount:** 

Ratification Date: Resolution #:						
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Lee Thao	SMITH AND MARTINS REARRANGEMENT OF WEST SAINT	Mill and Overlay - Commercia	57.50 57.50	40.00	\$2,300.00	07-28-22-41-0073
697 Stryker Ave St Paul MN 55107-2837	PAUL PROPER LOT 10 BLK 136	Mill and Overlay - Residential	37.30	0.00	\$0.00	
*697 STRYKER AVE		*** Owner and Taxpayer ***			\$2,300.00	
*Ward: 2 *Pending as of: 12/31/2018		Total Ass	sessment:		\$1,725.00	
		This Pay	ment:		\$0.00	
		-	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	mount:		\$1,725.00	
Larry A Drenckhahn	HORNSBY'S SUBDIVISION OF BLK.	Mill and Overlay - Commercia	57.50	39.00	\$2,242.50	07-28-22-41-0081
700 Stryker Ave	137 OF WEST ST. PAUL PROPER N 38	2		=	\$2,242.50	07 20 22 41 0001
St Paul MN 55107-2838 *700 STRYKER AVE	5/10 FT OF S 78 5/10 FT OF LOTS 8 9 AND LOT 10 BLK 137	*** Owner and Taxpayer ***			Ψ2,242.30	
*Ward: 2		Total Ass	sessment:		\$2,242.50	
*Pending as of: 12/31/2018		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	mount:		\$2,242.50	
Nikolay Kozak	SMITH AND MARTINS	Mill and Overlay - Commercia	57.50	50.00	\$2,875.00	07-28-22-41-0111
701 Stryker Ave	REARRANGEMENT OF WEST SAINT PAUL PROPER PART OF BLK B WEST	Mill and Overlay - Residential	57.50	0.00	\$0.00	V. 20 22 11 VIII
St Paul MN 55107-3317	ST PAUL LYING E OF EXTENDED E L			_	\$2,875.00	
*701 STRYKER AVE *Ward: 2	OF LOT 2 RAMSEY COUNTY LOAN AND TRUST CO SUBD NO 2 AND BET	*** Owner and Taxpayer ***				
*Pending as of: 12/31/2018		Total Ass	sessment:		\$2,875.00	
		This Pay			\$0.00	
		Current Y	Year Principal:		\$0.00	

\$0.00

\$2,875.00

\*725 STRYKER AVE

\*Pending as of: 12/31/2018

\*Ward: 2

9:07:06 2/6/2019	Public Improvement Assessment Roll	by Address (Fee to Asmt) Progratification Date: Resolution		Assmt: 185503	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
William Joseph Convery Iii	HORNSBY'S SUBDIVISION OF BLK.	Mill and Overlay - Commercia	57.50	36.00	\$2,070.00	07-28-22-41-0082
Cara Convery	137 OF WEST ST. PAUL PROPER S 40 FT OF LOTS 8 9 AND LOT 10 BLK 137	Mill and Overlay - Residential	57.50	0.00	\$0.00	0. 20 22 11 0002
704 Stryker Ave	FI OF LOTS 8 7 AND LOT 10 BLK 137			_	\$2,070.00	
St Paul MN 55107-2838		*** Owner and Taxpayer ***				
*704 STRYKER AVE *Ward: 2		Total Ass	eccment.		\$2,070.00	
*Pending as of: 12/31/2018		This Pay			\$0.00	
1 Chang as 01. 12/31/2016		-	Year Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$2,070.00	
Burnsville Parkway Estates Llc C/O James W Tindall Jr 2400 Blaisdell Ave Unit 100 Minneapolis MN 55404-3331	WEST ST PAUL BLKS 100 THRU 171 ETC LOT 12 BLK B JACKSON AND BIDWELLS ADD AND IN SD WEST ST PAUL SUBJ TO ESMTS THE W 1/2 OF BLK C AND ALL OF LOTS 1 AND LOT 2 BLK 148	Mill and Overlay - Commercia Mill and Overlay - Residential  *** Owner and Taxpayer ***	57.50 57.50	185.00 0.00	\$10,637.50 \$0.00 \$10,637.50	07-28-22-41-0110
*714 STRYKER AVE *Ward: 2		Total Ass	eccment.		\$10,637.50	
*Pending as of: 12/31/2018		This Pay			\$0.00	
1 4.1 and an or. 12.3 a 2010		•	Year Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$10,637.50	
Charles F Bauer Iii	JACKSON AND BIDWELL'S	Mill and Overlay - Commercia	57.50	102.00	\$5,865.00	07-28-22-41-0112
Michael J Bauer	ADDITION TO WEST ST. PAUL,	<b>,</b>		<u> </u>	\$5,865.00	V:-EU-EE-TI-VIIE
725 Stryker Avenue St Paul MN 55107-3317	DAKOTA CO., TERRITORY OF MINNESOTA EX N 55 FT MOL PART S OF PAGE ST OF BLK B IN PLAT OF	*** Owner and Taxpayer ***			ψ2,002.00	

Total Assessment:

Current Year Principal:

Current Year Interest:

**Payoff Amount:** 

This Payment:

WEST ST PAUL AND IN SD JACKSON

\$5,865.00

\$5,865.00

\$0.00

\$0.00

\$0.00

\*Ward: 2

\*Pending as of: 12/31/2018

Total Assessment:

Current Year Principal:

Current Year Interest:

**Payoff Amount:** 

This Payment:

9:07:06 2/6/2019	Public Improvement Assessment Roll	by Address (Fee to Asmt) Pr Ratification Date: Resolut	•	Assmt: 185503	3 Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Perry M Peloquin	JACKSON AND BIDWELL'S	Mill and Overlay - Commerci	a 57.50	56.00	\$3,220.00	07-28-22-41-0109	
913 Willow Ridge Rd	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF			_	\$3,220.00		
*736 STRYKER AVE	MINNESOTA N 6 FT OF LOT 10 AND ALL OF LOT 11 BLK B	*** Owner and Taxpayer ***					
*Ward: 2		Total A	ssessment:		\$3,220.00		
*Pending as of: 12/31/2018		This Pa	yment:		\$0.00		
		Current	Year Principal:		\$0.00		
		Current	Year Interest:		\$0.00		
		Payoff	Amount:		\$3,220.00		
Raymond Espinoza	JACKSON AND BIDWELL'S	Mill and Overlay - Commerci	a 57.50	43.00	\$2,472.50	07-28-22-41-0108	
740 Stryker Ave	ADDITION TO WEST ST. PAUL,	will and overlay - commerci	u 37.50	45.00	\$2,472.50	07-28-22-41-0108	
St Paul MN 55107-3318 *740 STRYKER AVE	DAKOTA CO., TERRITORY OF MINNESOTA EX N 6 FT LOT 10 BLK	E *** Owner and Taxpayer ***			\$2,472.30		
*Ward: 2		Total A	ssessment:		\$1,972.50		
*Pending as of: 12/31/2018		This Pa	yment:		\$0.00		
		Current	Year Principal:		\$0.00		
		Current	Year Interest:		\$0.00		
		Payoff	Amount:		\$1,972.50		
W. 1. 1. D.7. 1	Lots 1 And Lot 2 Blk 3	Mill and Occarlant Communication	57.50	105.00	¢( 027 50	07.00.00.44.05.70	
Kimberley D Zack Shane C Zack	Lots 1 And Lot 2 Dix 3	Mill and Overlay - Commerci Mill and Overlay - Residentia		105.00 0.00	\$6,037.50 \$0.00	07-28-22-41-0159	
743 Stryker Ave		,			\$6,037.50		
St Paul MN 55107-1148 * <b>743 STRYKER AVE</b>		*** Owner and Taxpayer ***			+ =,==		
140 STRIKER AVE							

\$6,037.50

\$6,037.50

\$0.00

\$0.00

\$0.00

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1805 Assmt: 185503 Manager: LM

	R	•	Resolution		110011101	gerv zavi	1 "
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Scott D Kramer	JACKSON AND BIDWELL'S	Mill and Overlay - Co	mmercia	57.50	60.00	\$3,450.00	07-28-22-41-0107
241 George St W St Paul MN 55107-2759 * <b>746 STRYKER AVE</b>	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF MINNESOTA N 10 FT OF LOT 8 AND ALL OF LOT 9 BLK B	*** Owner and Taxpa	yer ***		_	\$3,450.00	
*Ward: 2			Total Asses	ssment:		\$3,450.00	
*Pending as of: 12/31/2018			This Paymo	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$3,450.00	
Alexandra L Dereschuk	JACKSON AND BIDWELL'S	Mill and Overlay - Co	mmercia	57.50	45.00	\$2,587.50	07-28-22-41-0106
752 Stryker Ave	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF				=	\$2,587.50	
St Paul MN 55107-3318 * <b>752 STRYKER AVE</b>	MINNESOTA EX N 10 FT LOT 8 AND SUBJ TO ESMTS THE N 5 FT OF LOT 7	*** Owner and Taxpa	yer ***			,	
*Ward: 2	BLK B		Total Asses	ssment:		\$2,587.50	
*Pending as of: 12/31/2018			This Paymo	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff Am	ount:		\$2,587.50	
Amber Kuehl	JACKSON AND BIDWELL'S	Mill and Overlay - Co	mmercia	57.50	45.00	\$2,587.50	07-28-22-41-0105
758 Stryker Ave St Paul MN 55107-3318	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF MINNESOTA SUBJ TO ESMTS AND EX	*** Owner and Taxpa	ver ***		=	\$2,587.50	0. 20 22 11 0100
*758 STRYKER AVE	N 5 FT LOT 7 BLK B	o unu Tunpu	<i>)</i>				
*Ward: 2			Total Asses	ssment:		\$2,587.50	
*Pending as of: 12/31/2018			This Paymo			\$0.00	
-			-	ar Principal:		\$0.00	
				_ ^			

Current Year Interest:

**Payoff Amount:** 

\$0.00 \$2,587.50

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1805 Assmt: 185503 Manager: LM Page 10 **Ratification Date: Resolution #:** Owner or Taxpayer **Property Description Item Description Unit Rate Quantity Charge Amts Property ID** JACKSON AND BIDWELL'S Mill and Overlay - Commercia 57.50 145.00 \$8,337.50 Caprice K Glaser 07-28-22-41-0142 ADDITION TO WEST ST. PAUL, 761 Stryker Ave \$8,337.50 DAKOTA CO., TERRITORY OF St Paul MN 55107-1148 \*\*\* Owner and Taxpaver \*\*\* MINNESOTA LOTS 3 4 AND LOT 5 BLK 3 \*761 STRYKER AVE \*Ward: 2 Total Assessment: \$4,337.50 \*Pending as of: 12/31/2018 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Pavoff Amount:** \$4,337.50 \*\*\*ESCROW\*\*\* 57.50 45.00 Mill and Overlay - Commercia \$2,587.50 Darren Eikeland JACKSON AND BIDWELL'S 07-28-22-44-0018 ADDITION TO WEST ST. PAUL, Mill and Overlay - Residential 57.50 0.00\$0.00 Janphen Eikeland DAKOTA CO., TERRITORY OF 766 Stryker Ave \$2,587.50 MINNESOTA EX E 10 FT FOR ALLEY THE N 45 FT OF LOT 10 BLK 5 St Paul MN 55107-3358 \*\*\* Owner and Taxpayer \*\*\* \*766 STRYKER AVE Total Assessment: \$2,587.50 \*Ward: 2 This Payment: \$0.00 \*Pending as of: 12/31/2018 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$2,587.50 Mill and Overlay - Commercia 57.50 \$2,875.00 Monica Carlson 50.00 JACKSON AND BIDWELL'S 07-28-22-44-0019 ADDITION TO WEST ST. PAUL. 767 Stryker Ave \$2,875.00 DAKOTA CO., TERRITORY OF St Paul MN 55107-3322 \*\*\* Owner and Taxpayer \*\*\* MINNESOTA LOT 1 BLK 6 \*767 STRYKER AVE \*Ward: 2 Total Assessment: \$2,875.00 This Payment: \*Pending as of: 12/31/2018 \$0.00

Current Year Principal:

Current Year Interest:

**Payoff Amount:** 

\$0.00

\$0.00

\$2,875.00

Owner or Taxpayer	<b>Property Description</b>	Item Description		Unit Rate	<b>Quantity</b>	Charge Amts	<u>Property ID</u>
Joshua A Wise	JACKSON AND BIDWELL'S ADDITION TO WEST ST. PAUL.	Mill and Overlay - Con	nmercia	57.50	42.00	\$2,415.00	07-28-22-44-0017
774 Stryker Ave	DAKOTA CO., TERRITORY OF					\$2,415.00	
St Paul MN 55107-3358	MINNESOTA EX E 10 FT FOR ALLEY	*** Owner and Taxpay	er ***				
*774 STRYKER AVE	THE N 35 FT OF LOT 9 AND THE S 5 FT OF LOT 10 BLK 5	_					
*Ward: 2	0. 20 22		Total Assess			\$1,915.00	
*Pending as of: 12/31/2018			This Paymer			\$0.00	
				r Principal:		\$0.00	
			Current Yea			\$0.00	
		ŀ	Payoff Amo	ount:		\$1,915.00	
							***ESCROW***
Aaron Mark Paitich	JACKSON AND BIDWELL'S	Mill and Overlay - Con	nmercia	57.50	98.00	\$5,635.00	07-28-22-44-0020
777 Stryker Ave	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF				_	\$5,635.00	
St Paul MN 55107 *777 STRYKER AVE	MINNESOTA LOTS 2 & LOT 3 BLK 6	*** Owner and Taxpay	er ***			•	
*Ward: 2		<del>-</del>	Γotal Assess	sment:		\$5,635.00	
*Pending as of: 12/31/2018		7	This Paymer	nt:		\$0.00	
		(	Current Yea	r Principal:		\$0.00	
		(	Current Yea	r Interest:		\$0.00	
		I	Payoff Amo	ount:		\$5,635.00	
		MCII 10 1 C	• .	57.50	20.00	Ф2 105 00	
Donald W Christensen	JACKSON AND BIDWELL'S ADDITION TO WEST ST. PAUL,	Mill and Overlay - Con	nmercia	57.50	38.00	\$2,185.00	07-28-22-44-0016
778 Stryker Ave	DAKOTA CO., TERRITORY OF					\$2,185.00	
St Paul MN 55107-3358 *778 STRYKER AVE	MINNESOTA EX E 10 FT FOR ALLEY THE N 25 FT OF LOT 8 AND THE S 15	*** Owner and Taxpay	er ***				
*Ward: 2	FT OF LOT 9 BLK 5	7	Γotal Assess	sment:		\$2,185.00	
*Pending as of: 12/31/2018		7	This Paymer	nt:		\$0.00	
		(	Current Yea	r Principal:		\$0.00	
			Current Yea			\$0.00	
		I	Payoff Amo	ount:		\$2,185.00	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate Quantity Charge Amts Property ID** SHERWOODS REARRANGEMENT Mill and Overlay - Commercia 57.50 40.00 \$2,300.00 Michelle R Kovacs 07-28-22-44-0015 ETC. N 40 FT OF LOTS 5 THRU 8 EX E 782 Stryker Ave \$2,300.00 10 FT OF SD PART OF LOT 5 St Paul MN 55107-3358 \*\*\* Owner and Taxpaver \*\*\* \*782 STRYKER AVE \*Ward: 2 Total Assessment: \$2,300.00 \*Pending as of: 12/31/2018 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Pavoff Amount:** \$2,300.00 Mill and Overlay - Commercia 57.50 50.00 \$2,875.00 Russell B Kreuscher Trustee JACKSON AND BIDWELL'S 07-28-22-44-0021 ADDITION TO WEST ST. PAUL. Marilyn J Kreuscher Trustee \$2,875.00 DAKOTA CO., TERRITORY OF 789 Stryker Ave \*\*\* Owner and Taxpayer \*\*\* MINNESOTA LOT 4 BLK 6 St Paul MN 55107-3322 \*785 STRYKER AVE Total Assessment: \$2,875.00 \*Ward: 2 This Payment: \$0.00 \*Pending as of: 12/31/2018 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$2,875.00 Mill and Overlay - Commercia 57.50 Brandon J Bigelbach 39.00 \$2,242.50 SHERWOODS REARRANGEMENT 07-28-22-44-0014 ETC. LOTS 5 THRU 8 EX N 40 FT AND 786 Stryker Ave \$2,242.50 EX S 45 FT AND EX E 10 FT OF SD LOT St Paul MN 55107-3358 \*\*\* Owner and Taxpaver \*\*\* 5 \*786 STRYKER AVE \*Ward: 2 Total Assessment: \$2,242.50 \*Pending as of: 12/31/2018 \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$2,242.50

ADDITION TO WEST ST PAUL, DAKOTA CO., TERRITORY OF MINNESOTA LOT S BLK 6   S2,875.00	Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
DAKOTA CO., TERRITORY OF MINNESOTA LOT 5 BLK 6   S2,875.00	Enrique S Monjarrez		Mill and Overlay - Commercia	a 57.50		\$2,875.00	07-28-22-44-0022
St.   Paul MN   S5107-3322   **** Owner and Taxpayer ***   S2,875.00   S2,87	Erin C Delaney Monjarrez	· · · · · · · · · · · · · · · · · · ·	Mill and Overlay - Residentia	57.50	0.00	\$0.00	
**793 STRYKER AVE  *Ward: 2  *Pending as of: 12/31/2018  David Morrison  David Morrison  David Morrison  ETC: S: 45 FT OF LOTIS STHRUN ETX  FOR DART OF LOTS STHRUN ETX  FOR DART OF LOTS STHRUN ETX  FOR DART OF LOTS STHRUN ETX  ***Owner and Taxpayer ****  ***Owner and Taxpayer ***  ***Owner	-	· · · · · · · · · · · · · · · · · · ·			_	\$2,875.00	
*Ward: 2			*** Owner and Taxpayer ***				
**Pending as of: 12/31/2018  **Pending as of: 12/31/2018  **David Morrison  David Morrison  Trina Morrison  Tr						*****	
Current Year Principal:   \$0.00						•	
David Morrison	*Pending as of: 12/31/2018						
David Morrison				•			
David Morrison							
### Owner and Taxpayer ***    Suzanne D Deleon Rice   Jackson And Bidwell's   Addition to West's T. Paul, Dakota Co., Territory Of Minnesota Lot 1 BLK 9    Stryker Ave						,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
Time Morrison   10 FT OF SD PART OF LOT 5   S2,587.50   S2,587.5	David Morrison						07-28-22-44-0013
Stryker Ave	Trina Morrison		Mill and Overlay - Residentia	57.50	0.00	\$0.00	
*790 STRYKER AVE  *Ward: 2  *Pending as of: 12/31/2018  Suzanne D Deleon Rice Marcelo Deleon Marcelo Deleon Marcelo Deleon Stryker Ave St Paul MN 55107-3323  *793 STRYKER AVE  *Ward: 2  *Pending as of: 12/31/2018  *Total Assessment:  \$2,587.50  *This Payment: \$0.00  Current Year Principal: \$0.00  Current Year Interest: \$0.00  Payoff Amount:  \$2,875.00  Mill and Overlay - Commercia \$7.50  Mill and Overlay - Residential \$7.50  Mill and Overlay - Residential \$7.50  Mill and Overlay - Residential \$2,875.00  ***Owner and Taxpayer ***  **Owner and Taxpayer ***  **Total Assessment:  \$2,875.00  \$2,875.00  \$2,875.00  \$2,875.00  \$2,875.00  Total Assessment:  \$2,875.00  ***Owner and Taxpayer ***	2				_	\$2,587.50	
*Ward: 2  *Pending as of: 12/31/2018  *Pending as of: 12/31/2018  *Total Assessment: \$2,587.50  This Payment: \$0.00  Current Year Principal: \$0.00  Current Year Interest: \$0.00  Payoff Amount: \$2,587.50   *Suzanne D Deleon Rice  Marcelo Deleon  Addition to West St. Paul., Dakota Co., territory of Minnesora Lot 1 Blk 9  St Paul MN 55107-3323  *793 STRYKER AVE  *Ward: 2  *Total Assessment: \$2,875.00			*** Owner and Taxpayer ***				
*Pending as of: 12/31/2018  This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$2,587.50  Suzanne D Deleon Rice Marcelo Deleon Marcelo Deleon Payoff Amount: \$1.00 Mill and Overlay - Commercia 57.50 50.00 \$2,875.00 \$0.00 Mill and Overlay - Residential 57.50 0.00 \$0.00 Mill and Overlay - Residential 57.50 0.00 \$0.00  This Payment: \$2,875.00  Suzanne D Deleon Rice Marcelo Deleon Marcelo Deleon Mill and Overlay - Residential 57.50 0.00 \$0.00  Stryker Ave St Paul MN 55107-3323  ***Owner and Taxpayer ***  **Total Assessment: \$2,875.00  *Pending as of: 12/31/2018  This Payment: \$0.00							
Current Year Principal: \$0.00						,	
Current Year Interest: \$0.00	*Pending as of: 12/31/2018			•			
Suzanne D Deleon Rice   JACKSON AND BIDWELL'S   Mill and Overlay - Commercia   57.50   50.00   \$2,875.00   <b>07-28-22</b>				•			
Suzanne D Deleon Rice  Marcelo Deleon  Marcelo Deleon  793 Stryker Ave  St Paul MN 55107-3323  *** Owner and Taxpayer ***  **Total Assessment:  *Pending as of: 12/31/2018  *** Mill and Overlay - Commercia 57.50 50.00 \$2,875.00 \$0.00 \$							
Marcelo Deleon ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF MINNESOTA LOT 1 BLK 9  *** Owner and Taxpayer ***  *Total Assessment: Pending as of: 12/31/2018  *** Owner and Taxpayer **  **Owner and Taxpayer ***  *** Owner and Taxpayer ***			Tayon	amount.		\$2,507.50	
##ROWNER AVE  ***Owner and Taxpayer ***  ***Total Assessment: \$2,875.00  **Pending as of: 12/31/2018  ***Initial Overlay = Residential \$7.50  \$30.00  \$2,875.00  \$2,875.00  ***Owner and Taxpayer ***  **Total Assessment: \$2,875.00  **Pending as of: 12/31/2018	Suzanne D Deleon Rice						07-28-22-44-0047
793 Stryker Ave	Marcelo Deleon		Mill and Overlay - Residentia	57.50	0.00	\$0.00	
*793 STRYKER AVE       Total Assessment:       \$2,875.00         *Ward: 2       Total Assessment:       \$2,875.00         *Pending as of: 12/31/2018       This Payment:       \$0.00	•				_	\$2,875.00	
*Ward: 2 Total Assessment: \$2,875.00  *Pending as of: 12/31/2018 This Payment: \$0.00			*** Owner and Taxpayer ***				
*Pending as of: 12/31/2018 This Payment: \$0.00						<u> </u>	
·						•	
	*Pending as of: 12/31/2018			-			
Current Year Principal: \$0.00 Current Year Interest: \$0.00				-		\$0.00	
Payoff Amount: \$2,875.00							

## Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1805 Assmt: 185503 Manager: LM Ratification Date: Resolution #:

		Ratification Date: Resolu	tion #:			
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Martea Markunas	JACKSON AND BIDWELL'S	Mill and Overlay - Commerci	a 57.50	50.00	\$2,875.00	07-28-22-44-0046
799 Stryker Ave	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF			_	\$2,875.00	
St Paul MN 55107-3323	MINNESOTA LOT 2 BLK 9	*** Owner and Taxpayer ***				
*799 STRYKER AVE						
*Ward: 2			ssessment:		\$2,875.00	
*Pending as of: 12/31/2018		This Pa	•		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$2,875.00	
April R Londo	JACKSON AND BIDWELL'S	Mill and Overlay - Commerci	a 57.50	50.00	\$2,875.00	07-28-22-44-0045
Justin D Nisewicz	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF			=	\$2,875.00	
805 Stryker Ave St Paul MN 55107-3323	MINNESOTA LOT 3 BLK 9	*** Owner and Taxpayer ***			•	
*805 STRYKER AVE		Total A	ssessment:		\$2,875.00	
*Ward: 2		This Pa			\$0.00	
*Pending as of: 12/31/2018			t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$2,875.00	
Travis W Nelson	JACKSON AND BIDWELL'S	Mill and Overlay - Commerci	a 57.50	47.00	\$2,702.50	07-28-22-44-0044
811 Stryker Ave	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF			=	\$2,702.50	
St Paul MN 55107-3323 *811 STRYKER AVE	MINNESOTA LOT 4 BLK 9	*** Owner and Taxpayer ***			,	
*Ward: 2		Total A	ssessment:		\$2,002.50	
*Pending as of: 12/31/2018		This Pa	yment:		\$0.00	
-			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$2,002.50	

Resolution #:

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Jackie Rodriguez	TUTTLES REARRANGEMENT ETC. N	Mill and Overlay - Commer	cia 57.50	62.00	\$3,565.00	07-28-22-44-0059	
Marcelo Rodriguez Perez	60 FT MOL AS IN TS DOC 426812 OF FOL LOTS 7 AND LOT 8 BLK 10			_	\$3,565.00		
812 Stryker Ave		*** Owner and Taxpayer **	*				
St Paul MN 55107-3357 *812 STRYKER AVE		Total	Assessment:		\$3,565.00		
*Ward: 2			Payment:		\$9,303.00		
*Pending as of: 12/31/2018			ent Year Principal:		\$0.00		
1 chang as of. 12/3/2010			ent Year Interest:		\$0.00		
			ff Amount:		\$3,565.00		
Jackie Rodriguez	TUTTLES REARRANGEMENT ETC. EX	-		64.00	\$3,680.00	07-28-22-44-0058	
Marcelo Rodriguez Perez	N 60 FT MOL AS IN TS DOC 426812 LOTS 7 AND LOT 8 BLK 10	Inguez Perez LOTS 7 AND LOT 8 BLK 10	Mill and Overlay - Residen	ial 57.50	0.00	\$0.00	
812 Stryker Ave					\$3,680.00		
St Paul MN 55107-3357 * <b>814 STRYKER AVE</b>		*** Owner and Taxpayer **	*				
*Ward: 2		Total	Assessment:		\$3,680.00		
*Pending as of: 12/31/2018		This	Payment:		\$0.00		
		Curre	nt Year Principal:		\$0.00		
		Curre	nt Year Interest:		\$0.00		
		Payo	ff Amount:		\$3,680.00		
z di wwa	AACWGON AND DIDWELLIG	Mill and Organization Communication	57.50	50.00	\$2.875.00	07.00.00.11.00.12	
Kathleen M Wilson	JACKSON AND BIDWELL'S ADDITION TO WEST ST. PAUL,	Mill and Overlay - Commer Mill and Overlay - Residen		50.00 0.00	\$2,875.00 \$0.00	07-28-22-44-0043	
Durron Dereck Wilson 817 Stryker Ave	DAKOTA CO., TERRITORY OF	will and Overlay - Residen	iai 37.30	0.00			
St Paul MN 55107-3323	MINNESOTA LOT 5 BLK 9	*** Owner and Taxpayer **	*		\$2,875.00		
*817 STRYKER AVE		Owner and Taxpayer					
*Ward: 2		Total	Assessment:		\$2,875.00		
*Pending as of: 12/31/2018			Payment:		\$0.00		
1 chaing as of . 12/3//2010			ent Year Principal:		\$0.00		
			ent Year Interest:		\$0.00		
					*		

**Ratification Date:** 

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Ih3 Property Minnesota Lp	JACKSON AND BIDWELL'S	Mill and Overlay - Commercia		50.00	\$2,875.00	07-28-22-44-0081
C/O Invitation Homes Tax Dept	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF	Mill and Overlay - Residential	57.50	0.00	\$0.00	
1717 Main St Ste 2000	MINNESOTA LOT 1 BLK 14	***			\$2,875.00	
Dallas TX 75201-4657		*** Owner and Taxpayer ***				
* <b>823 STRYKER AVE</b> *Ward: 2		Total As	sessment:		\$2,875.00	
*Pending as of: 12/31/2018		This Pay			\$2,873.00	
1 Chaing as 01. 12/31/2010			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$2,875.00	
Julie D Tilley	Ex S 80 Ft; Lots 9 & 10 And Ex S 80 Ft;	Mill and Overlay - Commercia	57.50	45.00	\$2,587.50	07-28-22-44-0162
826 Stryker Ave	The W 35 Ft Of Lot 11 All In Blk 13	Mill and Overlay - Residential	57.50	0.00	\$0.00	0. 20 22 11 0102
St Paul MN 55107-3356				_	\$2,587.50	
*826 STRYKER AVE *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 12/31/2018		Total As	sessment:		\$2,587.50	
		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$2,587.50	
Robert M Kroska	JACKSON AND BIDWELL'S	Mill and Overlay - Commercia	57.50	49.00	\$2,817.50	07-28-22-44-0082
Lisa A Kroska	ADDITION TO WEST ST. PAUL,			=	\$2,817.50	07-20-22-44-0002
831 Stryker Ave St Paul MN 55107-3324	DAKOTA CO., TERRITORY OF MINNESOTA LOT 2 BLK 14	*** Owner and Taxpayer ***			Ψ2,017.30	
*831 STRYKER AVE		Total As	sessment:		\$2,817.50	
*Ward: 2		This Pay	ment:		\$0.00	
*Pending as of: 12/31/2018		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$2,817.50	

	I	Ratification Date:	Resolution	n #:			
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Amy C Petschauer	TUTTLES REARRANGEMENT ETC. S	Mill and Overlay - Co	ommercia	57.50	80.00	\$4,600.00	07-28-22-44-0073
Mark H Landy	80 FT OF LOTS 9 AND 10 AND S 80 FT OF W 35 FT OF LOT 11 BLK 13				·	\$4,600.00	
834 Stryker Ave		*** Owner and Taxpa	ayer ***				
St Paul MN 55107-3356							
*834 STRYKER AVE			Total Asse			\$4,600.00	
*Ward: 2			This Payn			\$0.00	
*Pending as of: 12/31/2018				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff Ar	nount:		\$4,600.00	
Jeffrey J Bear	JACKSON AND BIDWELL'S	Mill and Overlay - Co	ommercia	57.50	50.00	\$2,875.00	07-28-22-44-0083
835 Stryker Ave	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF				=	\$2,875.00	
St Paul MN 55107-3324 * <b>835 STRYKER AVE</b>	MINNESOTA LOT 3 BLK 14	*** Owner and Taxpa	ayer ***			<del>+-,</del> -,-,-	
*Ward: 2			Total Asse	essment:		\$2,875.00	
*Pending as of: 12/31/2018			This Paym	nent:		\$0.00	
			Current Y	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff Ar	nount:		\$2,875.00	
Gary L Duncan	TUTTLES REARRANGEMENT ETC. N	Mill and Overlay - Co	ommercia	57.50	61.00	\$3,507.50	07-28-22-44-0074
Mary Jo Duncan	62 50/100 FT OF LOTS 7 AND LOT 8	•				\$3,507.50	0/ 20 22 44 00/4
838 Stryker Ave St Paul MN 55107-3356	BLK 13	*** Owner and Taxpa	ayer ***			ψ3,507.50	
*838 STRYKER AVE			Total Asse	essment:		\$3,507.50	
*Ward: 2			This Paym			\$0.00	
*Pending as of: 12/31/2018			Current Y	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff Ar	nount:		\$3,507.50	

Public Improvement Assessment I	Roll by Adaress (Fee to A	Asmt) Project: MOI	805
	Ratification Date:	Resolution #•	

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Anna Elizabeth Smith Fraser	TUTTLES REARRANGEMENT ETC. EX	,		63.00	\$3,622.50	07-28-22-44-0075
844 Stryker Ave	N 62 50/100 FT LOTS 7 AND LOT 8 BLK 13	Mill and Overlay - Residential	57.50	0.00	\$0.00	
St Paul MN 55107-3356		Add O 177 Add			\$3,622.50	
*844 STRYKER AVE		*** Owner and Taxpayer ***				
*Ward: 2		Total A			\$2.622.50	
*Pending as of: 12/31/2018		Total As	sessment:		\$3,622.50 \$0.00	
		-	Ment. Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$3,622.50	
Millennial Properties 2 Llc	JACKSON AND BIDWELL'S	Mill and Overlay - Commercia	57.50	50.00	\$2,875.00	07-28-22-44-0085
780 Delaware Ave E	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF	Mill and Overlay - Residential	57.50	0.00	\$0.00	
St Paul MN 55107-3551	MINNESOTA LOT 5 BLK 14			_	\$2,875.00	
*845 STRYKER AVE *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 12/31/2018		Total As	sessment:		\$2,875.00	
		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$2,875.00	
Ellen R Hill	MCMANIGAL AND VARNEYS	Mill and Overlay - Commercia	57.50	115.00	\$6,612.50	07-28-22-44-0112
853 Stryker Ave	REARRANGEMENT OF BLOCK 17 OF JACKSONS AND BIDWELL'S	Mill and Overlay - Residential	57.50	0.00	\$0.00	
St Paul MN 55107-3325  *853 STRYKER AVE  *Ward: 2	ADDITION TO WEST ST. PAUL NO PART OF VAC ALLEY ADJ AND FOL LOT 1 AND E 5 FT OF LOT 2 BLK 17	*** Owner and Taxpayer ***			\$6,612.50	
*Pending as of: 12/31/2018		Total As	sessment:		\$6,612.50	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	mount:		\$6,612.50	

	1	Ratification Date: Resolution	)II # <b>.</b>			
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Carol G Mellom	JACKSON AND BIDWELL'S ADDITION TO WEST ST. PAUL,	Mill and Overlay - Commercia	57.50	60.00	\$3,450.00	07-28-22-44-0121
854 Stryker Ave	DAKOTA CO., TERRITORY OF	Mill and Overlay - Residential	57.50	0.00	\$0.00	
St Paul MN 55107-3355	MINNESOTA N 10 FT OF LOT 9 AND ALL OF LOT 10 BLK 18	*** O ***			\$3,450.00	
*854 STRYKER AVE *Ward: 2	ALL OF LOT TO BLK 16	*** Owner and Taxpayer ***				
*Pending as of: 12/31/2018		Total Ass	sessment:		\$3,450.00	
C		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	mount:		\$3,450.00	
Christopher J Rokus	JACKSON AND BIDWELL'S	Mill and Overlay - Commercia	57.50	50.00	\$2,875.00	07-28-22-44-0120
858 Stryker Ave	ADDITION TO WEST ST. PAUL,	3		=	\$2,875.00	07-20-22-44-0120
St Paul MN 55107-3355 * <b>858 STRYKER AVE</b>	DAKOTA CO., TERRITORY OF MINNESOTA N 10 FT OF LOT 8 AND EX N 10 FT LOT 9 BLK 18	*** Owner and Taxpayer ***			\$2,075.00	
*Ward: 2		Total Ass	sessment:		\$2,775.00	
*Pending as of: 12/31/2018		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$2,775.00	
						***ESCROW***
Keith P Coyer	JACKSON AND BIDWELL'S	Mill and Overlay - Commercia	57.50	50.00	\$2,875.00	07-28-22-44-0119
864 Stryker Ave St Paul MN 55107-3355	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF	*** O 1.T ***		_	\$2,875.00	
*864 STRYKER AVE	MINNESOTA EX S 40 FT LOT 7 AND EX N 10 FT LOT 8 BLK 18	*** Owner and Taxpayer ***				
*Ward: 2		Total As	sessment:		\$2,875.00	
*Pending as of: 12/31/2018		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$2,875.00	

•	, ,
Ratification Date:	Resolution #:

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Juan Mena	MCMANIGAL AND VARNEYS	Mill and Overlay - Comme	rcia 57.50	57.00	\$3,277.50	07-28-22-44-0116
Eva Mena 867 Stryker Ave St Paul MN 55107-3325	REARRANGEMENT OF BLOCK 17 OF JACKSONS AND BIDWELL'S ADDITION TO WEST ST. PAUL ALL OF VAC ALLEY ACCRUING & FOL; EX E 5	*** Owner and Taxpayer **	**		\$3,277.50	
*867 STRYKER AVE	FT; THE S 10 FT OF LOT 2 & S 10 FT OF	Total	Assessment:		\$3,277.50	
Ward: 2		This	Payment:		\$0.00	
Pending as of: 12/31/2018		Curre	ent Year Principal:		\$0.00	
		Curre	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$3,277.50	
870 Stryker Ave St Paul MN 55107-3355	JACKSON AND BIDWELL'S ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF MINNESOTA S 40 FT OF LOT 7 BLK	Mill and Overlay - Comme  *** Owner and Taxpayer ***		37.00	\$2,127.50 \$2,127.50	07-28-22-44-0118
70 Stryker Ave It Paul MN 55107-3355 870 STRYKER AVE	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF	*** Owner and Taxpayer *	**	37.00	\$2,127.50	07-28-22-44-0118
70 Stryker Ave st Paul MN 55107-3355 <b>870 STRYKER AVE</b> Ward: 2	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF MINNESOTA S 40 FT OF LOT 7 BLK	*** Owner and Taxpayer **  Total	** Assessment:	37.00	\$2,127.50 \$2,127.50	07-28-22-44-0118
70 Stryker Ave t Paul MN 55107-3355 870 STRYKER AVE Ward: 2	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF MINNESOTA S 40 FT OF LOT 7 BLK	*** Owner and Taxpayer **  Total This	** Assessment: Payment:	37.00	\$2,127.50 \$2,127.50 \$0.00	07-28-22-44-0118
Andrea K Specht 870 Stryker Ave St Paul MN 55107-3355 *870 STRYKER AVE *Ward: 2 *Pending as of: 12/31/2018	ADDITION TO WEST ST. PAUL, DAKOTA CO., TERRITORY OF MINNESOTA S 40 FT OF LOT 7 BLK	*** Owner and Taxpayer **  Total This Curre	** Assessment:	37.00	\$2,127.50 \$2,127.50	07-28-22-44-0118

**Report Totals:** 

59 Parcel(s) 0 Cert. Exempt Parcel(s) **Total Assessment:** \$206,642.50 This Payment: \$0.00 **Current Year Principal** \$0.00 **Current Year Interest:** \$0.00 **Payoff Amount:** \$206,642.50